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#from pyDOE2 import *

import statsmodels. formula.api as smf

import pandas as pd

import statsmodels. api

from sklearn import linear model

import seaborn as sns

import matplotlib. pyplot as plt

Viscosity =[39.3,40.0,40.9,41.5,40.3,40.5,40.7,40.2,40.6]

Time =[30,30,40,40,35,35,35,35,35]

Temperature =[150,160,150,160,155,155,155,155,155]
dataViscositynViscosityHTemperaturemTem perature!Timem Time
df =pd.DataFrame(data)

model = smf. ols(’ df. Viscosity ~df. Time+ df. Temperature’, data=df).fit()
print (model. summary2 ())

print (model. params)

anovatable=sm. anovaﬁlm (model)

ax = sns.residplot (x=model. predict (df. Temperature), y=df. Viscosity, lowess=False,
color="black’)

ax. set_xlabel ( Fitted value’)

ax. set_ylabel ( Residuals’)

plt. show()

ax = sns.residplot (x=model. predict (df. Time), y=df.Viscosity, lowess=False, color="black’)
ax. set_xlabel ( Fitted value’)

ax. set_ylabel ( Residuals’)

plt. show()

fig=plt.figure(figsize=(8,12))

fig=sm.graphics.plot_ccpr_grid(model,fig=fig)

Viscosity =[39.3,40.0,40.9,41.5,40.3,40.5,40.7,40.2,40.6]
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Time=[-1,-1,1,1,0,0,0,0,0]
Temperature =[-1,1,-1,1,0,0,0,0,0]

dataViscositynViscosityHTemperaturenTemperature!Timen Time

df =pd.DataFrame(data)

model = smf.ols(’ df. Viscosity ~ df. Time+ df. Temperature’, data=df).fit()

print (model. summary2 ())

print (model. params)

model = smf.ols( df. Viscosity “df. Temperature +df. Time +df. Temperature :df.Time ’

data=df). fit ()

print (model. summary2 ())

print (model. params)

anovatable=sm. anovaﬁlm (model)

sgsigmahat=((40.3)A2+(40.5)A2+(40.7)A2+(40.2)A2+(40.6)A2-(202.3)A2/5)/4

> sgsigmahat
[1] 0.043

F=4x5%(40.425-40.46)2/(4+5)/sqsigmahat=0.06330749
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#tcodell-2. py
HARIDVEH A 2 Bk R R 13712566524, ##0E T HAL: www. aluoyun. cn
#from pyDOE2 import *

import statsmodels. formula.api as smf

import pandas as pd

import statsmodels. api

from sklearn import linear model
import seaborn as sns

import matplotlib. pyplot as plt

Viscosity =[76.5,77.0,78.0,79.5,79.9,80.3,80.0,79.7,79.8]
Time=[-1,-1,1,1,0,0,0,0,0]

Temperature=[-1,1,-1,1,0,0,0,0,0]
dataViscositynViscosityHTemperaturemTem perature!Timem Time
df =pd.DataFrame(data)

model = smf. ols(’ df. Viscosity ~df. Time+df. Temperature’, data=df).fit()
print (model. summary2 ())

print (model. params)

anovatable=sm. anovaﬁlm (model)

ax = sns.residplot (x=model. predict (df. Temperature), y=df. Viscosity, lowess=False,
color="black’)

ax. set_xlabel ( Fitted value’)

ax. set_ylabel ( Residuals’)

plt. show()

ax = sns.residplot (x=model. predict (df. Time), y=df. Viscosity, lowess=False, color="black’)
ax. set_xlabel ( Fitted value’)

ax. set _ylabel ( Residuals’)

plt. show()

fig=plt.figure(figsize=(8,12))
fig=sm.graphics.plot_ccpr_grid(model,fig=fig)


http://www.aluoyun.cn/images/code11-2.txt

model = smf. ols(’ df. Viscosity ~df. Temperature +df.Time +df. Temperature :df.Time ’
data=df). fit ()

)

print (model. summary2 ())
print (model. params)

anovatable=sm. anovaﬁlm (model)

sgsigmahat=((79.9)**2+(80.3)**2+(80.0)**2+(79.7)**2+(79.8)**2-(79.9+80.3+80.0+79.7+79.8)**2/5)/4
>sqgsigmahat
[1] 0.053

F=4x5%((76.5+77.0+78.0+79.5)/4-(79.9+80.3+80.0+79.7+79.8)/5)++2/(4+5)/sqsigmahat
>F
[1] 201.09



